410 ( )=
E+n x 10" E+3  x 1000
(kg/ ) (kg/

1 1.1E+0 4.9E+1 499 49.9
2 10E+1 10.0 10.0
3
4 9.0E+1 32E+3 32818 328138
5 6.1E+2 610.0 610.0
6
7 14E+1 22E+2 230.6 14E+3 1,360.0 1,590.6
8 13E+0 2.2E+0 35 2.3E+3 23415 2,345.0
9 34E+2 340.0 2.3E+0 2.0E+4 19,854.7 20,194.7
10 2.0E-1 0.2 2.3E+2 230.6 230.8
11 9.4E+1 9.8E+1 192.2 1922
12 7.2E+0 7.6E+3 7,624.2 3.5E+0 7.1E+2 715.3 8,339.5
13 4.2E+3 4,230.0 4,230.0
14 6.1E+2 1.1E+3 1,674.6 1,674.6
15 6.4E+2 640.0 15E+1 15.0 655.0
16 3.0E+0 3.0 9.9E+1 99.1 102.1
17 10E+1 1.2E+2 130.0 6.2E+2 15E+3 2.120.0 2,250.0
18 10E+1 10.0 8.6E+1 86.0 96.0
19 50E+1 50.0 50.0
20 8.4E+0 8.4 37E+2 367.3 375.7
21 2.7E+0 3.1E+1 337 19E+3 1,931.0 1,964.7
22 12E+1 12.0 2.0E+1 204 324
23 6.5E+0 1.8E+2 1895 51E+1 19E+4 19,139.0 19,3285
24 2.3E+3 23110 6.7E+3 6,674.0 8,985.0
25 24E+2 2.6E+3 2,796.5 27965
26 6.0E+1 60.0 18E+2 3.3E+0 187.5 2475
27 2.1E+1 21.0 1.2E+2 37E+3 3,866.4 3,887.4
28 9.0E-1 1.0E-1 10 15E+1 3.6E+3 3,587.5 3,588.5
29 13E+0 51E+1 52.6 52.6
30 19E+2 189.0 18E+1 35E+2 368.0 557.0
31
32 1.7E+0 17 17
33 14E+1 1.8E+3 1,789.3 1,789.3
34 2.1E+1 21.0 19E+2 190.0 211.0
35 6.2E+3 6,230.0 4.8E+0 4.8E+2 4818 6,711.8
36
37
38 10E+1 10.0 10.0
39
40 13E+1 13.0 35E+2 348.0 361.0
41 4.0E-1 04 4.3E+4 43,003.9 43,0043
42
43 2.3E+1 9.6E+1 119.0 119.0
44
45 35E+2 350.0 350.0
46 12E+0 12 1.2
47

9.6E+1 1.8E+4 18,202.2 6.3E+3 12E+5]  122,075.1 140277.3
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N




